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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt All the questions. |

A8 2l WaAudl WA (W0) siglseld wadl §. e3s wsAl A(R) @ .
oEl Uadidl Gar avil.

1. Which one of the following is correct in chronological order ?
(A) Herbert Spencer, Lester ward, Saint Simon, Auguste Comte
(B) Lester ward, Herbert Spencer, Auguste Comte, Saint Simon
(C) Saint Simon, Auguste comte, Herbert Spencer, Lester ward
(D)- Auguste Comte, Saint Simon, Lester ward, Herbert Spencer
st (AN sy Yy 97
(A)  solé W3, dr AlS, Ad R, 2R s
B) AW As, sold AU, wowre s+, Ad R
(C) dd R, 2dwRe s, eold WU, dwry US
D) owre sk, Ad R, Ae alg, ol AR
2. Which of the following is not a feature of socialization ?
(A) Members of a society learn to be friendly with others
(B) Members of a society learn to control their desires
(C) Values and worms of a society are internalized by the members
(D) The individual is liberated from social bonds
(Axiell sy [Qae avuosAd qae fl?
(A) WL ueul ofloil A Ao{lewd v, L &
B) AL Aedl Aue(l Sl Febld s v 8
(C)  AGUL glRL AU HeHl 2 HIRBLL HAL $AUY &

D) al3d rulys oia-diadl ysd au ©
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3. (1) Herbert Spencer is considered to be one of the founders of Sociology.
(2) He is considered so because he preceded comte. '
(A) Both (1) and (2) are correct - | |
(B) Both (1) and (2) are wrong
© (_1) is wrong and (2) is right
@) (1) is right and (2) is wrong

Qe @ () A siedll 2006 4 L A W2 A Wy 9.

[ Qaid @ (1) sold WA AHIARRAAL 208 22US dF sl 20 ),
(A) 1 A 2 o WAL D B) T A 2 i w2l &
© W ® ud 2wy & D) LAY O A g B
4. NRIs returnirig from abroad and relearning cultural norms is called :
» (A) Socialisation (B) Acculturation
(C) Resocialisation (D) Integration
offffarll [Qzael wd 2udl Aiglas wiel f & A sday § -
Aa) aulxs (B) ugldsw
| ©) yuulxs:el D) ABsw
1 5. When a woman of higher status marrie’s a man of lower status, it is
called ?
(A) Hypergamy (B) Hypogamy
(C) = Exogramy (D) Endogamy/Monogamy
G gl 25 ulRen e el Y™ WA @dd 53 A4 g s & ¢
(A)  Adin o : B) uldid ¢go-
(€) oildadq D) tirded |
6. Showing respect which addressing others standing in a line is example of :
(A) Folkways (B) Mores
(C) Discipline (D) Mannerism
Geollart sl avid AR As sctui GRlAi¥IA AU salag A wed Gelsw
sy 8 ¢ |
(A" dislAur - - B) 3R
© Brd | @) Brer
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7. Indicate the economic activities which encourage 'large families :

(A) Industrial enterprises (B) Trade and commerce
(C) Agricultural activities (D) Domestication of animals
w2l sgoll WRBd sl 2uls ugliail euldl :
A)  Gaidt wslsdl B) AWR x4 R
© Al Rdus uged D) ugwa

8. Which of the following is not a characteristic of Society ?
(A) Definite territory (B) Law
(C) Culture ~ (D) Homogeneity
QAnidl sy qam qued «2l?
(A)  Alssy [t B) stuel
(C) U4l D) UH3IUL

9. Norms are :

(A) Derived from values
(B) Standards of social behaviour
(C) Associated with operative sanctions
(D) All of the above
qlell
A) Hedinidl Gemd &
B) AMUSs addd d 8
(€  Madud Hey ufdolal A Asida ©
D) Gudl duH
10. Who gave the idea of secondary group ?

(A) K. Davis (B) Charles Cooley

(C) H. M. Johnson (D) None of the above

‘Rlaus e’ Al R 518 2uwi?

Ay 5. slaxn B) wud sa

(C) AN, it @) 2uHidl 25y gl
11. Who put forward the idea of ‘little community’ ?

(A) Charles Cooley (B) Radcliffe-Brown

(C) Robert Merton (D) Robert Redfield

“ag-uyei’’ -l RQa S8 i’

@A) wu sa (B) sl3as B

(C) A6 HiA D) Riwé sldes
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12. Indicate the correct order : . .
(A) Roles, Norms, Goals, Values (B) Values, Goals, Norms, Roies
(C) Goals, Values, Roles, Norms (D) Norms, Roles, Values, Goals
w53 suldl ¢ | ‘
@) s, aield, @al, yeul B) Heul, Aul, 4, st
© 9L, yedl, ofist, Al ) dikel, oyfis, yedl, AWl
13. Which one of the following is attributed as features of superstructure by

‘Marx ?
(A) Ideas and Thoughts (B) Modes of Production
‘ (C) Production Relations (D) Class Conflict
43 suldal aawl U5l su qaad WS ofseavlL (super structure) v @alel
cule) 87
A R ¢ Bidn B) Gewen-l 3t
(C) ~ Gedie--it dolal @) adl-adu

14. An achieved status is one that is :
(A) a group of caste-minded people
(B) inherited from parents '
(C) derived from abilities and skills
(D) depends upon biological condition
Ul eR A © ¢
a) gl disil Wy
@) il dsdl Andal Al
© el v vuasdedl Gexa 8
@ %Rs Radl Gur 2walRd 8

15. Culture is :

(A) Learned (B) Shared
| (C) Both of the above D) None of the above
Al -

Ay el uasiu ® (B) asyl usiu &

(©) (A) v (B) o D) 2uuidl »s wa Adl
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16.

17.

18.

19.

Statement (1) : Social inequality is found in Cuba, a communist society.
(2) : No society is true from inequality in one or other form.

Answer :

(A) (1) and (2) are both false (B) (1) and (2) are both true

(C) (1) is true and (2) is false ®) (1) is false but (2) is true

Qe ¢ (1) styfRe Wy gadl sgounl AUS 203U Aal {9,

Qatd : () siS war amr As 3 oflgt ustl vl s el

(A) 1 A 2 ol uiel ©

B) 1 A R o~ AL ©

(© 2 A4 O 2t WG B

D) LW O U ANY Y

An organised collective effort to generate or resist change is called :

(A) Revivalist movement (B) Reformist movement

(C) Social movement (D) Revolutionary movement

yRadrdl A% H2 vudl dd viesiadl w2l AARd w8s wwd 5§

VT EERCTURT

A)  ydcuda€l (B) Yariael

©) wlrs Aielar M) silas

When two or more individuals interact with each other in a bounded situation

and their actions have bearing one each other, it is known as :

(A) Social interaction (B) Controlled observation

(C) Social system (D) Organic solidarity

U A 3 Adl 4y alaai ydeulbid wRRadlui 256l wa 2B s

8 wA au-ll Bul slsellond ueifad $3 6 dd g sday 97

@A) aeulys sidzw B) Ru-ld HRlaw
(©) aulys dat D) Falsu Asdl

Which of the following theorist views conflict as functional ?
(A) R. Dahrendorf (B) Lewis Coser

(C) G. Simmel (D) T. Parsons

QAniel sur Rgiddwial qadd usialos w97

(A)  UR. SeSIS (B) adlu sin:

) . ¥4 M) 2. WA
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20..

21.

According to whom classes are based on relations of production and status
is based on consumption of goods : '

(A) K. Mark : (B) R. Collins

(C) M. Weber (D) R. Dahrendorf

sidl M ol A Geutent-it Aoial Gu 2URd © wA AU 3 Gueial Gur
wialRd § ¢

@A) 3. wusd B) . sidly

©) ¥H. AR D) . S¢:SIS

Match the auther in Column I with their Contribution in Column II :
Column 1 Column II

(1) E. Durkheim (@) Sociology as a science of interpretative

(2) M. Weber understanding

(3 A Schulz (b) Socioclogy as a study of social facts

(3) H. Garfinkel (¢ Ethnomethodology

(d) Phenomenological Sociology
(¢) Social Conflict

(1) 2) (3) 4)

&) (@) (@ ®) (e)
(B) (b) (@) (d) (0
© (e (@ (@) (b)
™ © ®) . (e) (@)
Sl Hi suldal Aust stem-IT « suldal dideld Wl Asl :

PATCEY | slaM-I1
1 S guldu (@ Wi 2 2wy s Selhda
(2 M. A8 | e 2S10L
@) . Y ()  WAldidioo A v w8l 2is Alwd s
@ 2. wzesa (© Au-iRusidiw

(@ BAbilciosa Al
(e Ul siisdlse

Yl :

(1) ) (3) 4
A) @ (©) (b) (e)
®) (b) (@ ()] ©
(®) (e @ (@) b
») © (b) (e) ()
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22.

23.

24.

25.

Who among the following emphasised on functional necessity of social
stratification ?

(A) T. Parsons (B) Oppenheimer

(C) R. Aron D) M. Weber

Fret AS S1Q weulrs a-u-dl silos ¥3Ruid Bu ol ysul?

Ay . WA (B) lu-dur

© 2R, A - D) . AR

Indicate the scholar who has made contribution to interactionist school in
sociology :

(A) Talcott Parsons (B) G. H. Mead

(C) Levi-Strauss (D) Ralph Collins

AHLlWARL vidFutatel awvunl A3i-u st Qg didetd sy 8 Q
gulal :

(A) 2ldsle Ul B) @.2™. s

(©) adlin D) Ues sifa-y

Durkheim’s book : ‘Elementary forms of Religious Life’ is based on totemism
found in :

(A) India | (B) America

(C) France (D) Australia

guilldud yads “Aaid) sinl s Aoy ads’’ Auxidl syl tuni
wofl 2ida “2RMlpn’’ L Hiudl Gur 2uHIR AN ©7?

(&) oud B) st

© s D) »plau

Who coined the term Reference Group ?

(A) Herbest Hyman (B) Robert Merton
(C) Samuel Stouffler (D) Talcott Parsons
‘Aol e’ Al vata 518 suwi?

A)  eold s+ (B) UGS HeA

(C) A WsAUR D) eldsie R~

Socio—I1 9 P.T.O.



26.

27.

28.

29.

In most matrilinial societies, where descent is traced from mother to daughter,
authority and property in passed from :
(A) Mother-in-law to Son-in-law  (B) Father to Son

(C) Father in law to Son in law (D) Uncle to Nephew

Hiztewdrl uqdelld wuAul ol danacll waell Yol wd 8, i Al 29
(lesdd ectida 3l A wu & -

A) ARyl wusa B) Rl yaan

(©) =Rl FusA @) sl el ,
Rameshbhai works in a local school as a clerk. After two years, he passes
competitive examination and becomes a Taluka Development Officers. This
is an example of which mobility ?

(A) Vertical (B) Horizontal

(C) Circular (D) Inter-generational mobility
WHueus s 2als wound sals d3 st s B, A anll wdl A wales wlan
W 528 v aigst Qs sl oA 8. 2 s Wi aRadt 87
@A) Gl (B) 2usl

(C) uslHs @) id-Udl aulasflac

Which one of the following is the professional body of the sociologists in
India ? ‘

(A) Association of Indian Sociologists

(B)' Indian Sociological Society

(C) Indian Sociological Association

(D) Ethnographic and Folk Culture Society of India

GURCAHL WHFWH{ oY Al Ads (Al sy B?

@) RAR{NUA i Seu- Al |

B) SlEsud Alwldimwsa ARNALL

(€ SlEsu Alidiosa AR

@) AadiuEs A-s sies s AU s S-Sy

Which one of the following sociologists relied upon Marxian approach ?

(A) Ramkrishna Mukherjee (B) M. N. Srinivas
(C) A.R. Desai (D) A. M. Shah
Al sat ymrwal) msz{cuél vl 2 dlai?
(A wWBEw ys5w B) An.u4. R
(C)  A.2UR. S D) .24, ws
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30.

31.

32.

33.

A research method that is used to analyse social life by interpreting words &
images contained in a document is :

(A) Oral history (B) Content analysis

(C) Case study (D) Historical method

25 cacidarii sudriden 266 21 Risteliel vefued-l {asd Ay @asi-i [@Qsaue
w2 aualdl e uall 56 el 8 ¢

@A) s Slasw B) sor2 AUl
© dAulds dwA ®) dlasts vgl

Which of the following is not a feature of a clan ?
(A) Common name

(B) Common ancestor

(C) Same lineage

D) Common kinship ties

TQlAuiel sy @ o’ o -l

@A)  Awldwz ux

®) A5 ydw

(C) As% da

D) w[BuLAL AdAYLL-L 6ig-

According to Durkheim the form of solidarity found in primitive societies
is :

(A) Mechanical (B) Organic

(C) Collective (D) Differences
gul el M Yoo uBH wAH Al Hadl sdig s34 A3 sld ©
@A) k4l (B) FaBu

© wylRs M) A=

Legal rational authority is the basis of :

(A) Monarchy (B) Bureaucracy
(C) Gerontocracy (D) Feudalism
sUelBu—dlEs Adl A sidl AR S| © ¢

a) wawdl B) sl
() aslamudl (D) AHdae

Socio—II 11 P.T.O.



34. Match the book mentioned in Column I with the author in Column II :
Column I ' Column II

(@) Capitalism, Socialism and Democracy (1) J. Schumpeter

() German Ideology (2) K. Mark
(¢0 Stages of Economic Growth (3) G. Parsons
(d) The Social System 4 R. Merton
3) W. W. Rostow
@  ® © @
&) 1 2 5 3
B) 5 2 4 1
© 4 "2 5 3
®) 1 2 4 5
eI ui eulda yads sientIl di eulde dus WA Qs
slan-1 slan-11
@ saedlon, daudlai s s3isdl 1) %. wdlex
® @i sudBuidio @ sid sl
© Rwu s Ssiifis wa @) . wu
(@ <l Alua Ry @) U Ui+
(5) SHeY. S0y, R
yidl
(@) (%) © ()]
(A) 1 2 5 3
(B) 5 2 4 1
© 4 2 5 3
(D) 1 2 4 5

Socio—I11 12



35.

36.

317.

38.

When urban population grows but the proportion of urban population in the
total population remains constant, this is known as :

(A) Urbanisation (B) Urban growth

(C) Overurbanisation (D) Population stability

oyl A Al a8 9. uid s axdldi AT adld MR daad & 8.
d g sda ¢ :

A wilse ®) -l gl

©) laudlsa D) il Rad

The book ‘Structure and Function in Primitive Society’ was written by :
(A) Malinowski ' (B) Radcliffe-Brown

(C) Levi-Strauss (D) Nadel

“sU WS Ssud O Blda Audl s Aus

) Aladiadl B) sBas suG-

© aR¥w D) ~udd

Who made the distinction between latent and manifest functions ?
(A) Malinowski (B) R. Merton

(C) Radcliffe Brown (D) Talcott Parsons

use A uus2 Usilg Ale s sul

A) il (B) 2. He+

(©) 3Isl3as suB- (D) 2dsie AR

Which one of the following was not considered a necessary element of dominant
caste by M. N. Srinivas ?

(A) Numerical strength (B) Ownership of land

(C) Political power (D) Educational attainment

AH. 2, SR glal DAL sy wRetn neudlaila e #33 ARiuHl 2y
ol?

A) Avyea B) wHlulest

(C) w5 Al D) als QR

Socio—I1 13 P.T.0.



39.

Which one of the following is the greatest limitation of sociological research ?
(A) Collection of field-data

(B) Problem of objectivity in interpretation

(C) Selection of sample

D) Formulation of research problem

quraeo{ly Awiani QAuil 5§ you wuler iy 87

(A)  SAlU-AESIU BLssL 4L

B) viduedui axdalbicidl usn

(©) Reddl yieal)

40.

41.

42.

D) RAgad uedd 4sdr
The major form of Non-probability sample does not include :

(A) Snowball sample (B) Quota sample

(C) Accidental sample (D) Simple random sample
[Bit-detariysa Reddqdl you @azuini A4 44 sl wudy adl < :
(a) olld A (B) sdiat A4

(€) uskPis Red D) wg g9 Redq

The statistical measure to examine the relationship between dependent and
independent variable simultaneously is :

(A) Probability (B) Central tendency

(C) Correlation (D) Dispersion

U A i o AG QRAAL AL AN AR UL SisstuA{ly
Wy g sday © :

A)  dedarl B) Hwadl Radl syl

(C) uAsUei™ D) MNAUMUA

A hypothesis :

(A) does not necessarily reflect social reality

(B) is a social reality " ]

(C) is a tool for social research

(D) is not related to existing theory

Busey-t : ,

@) A Wl ardlasdl sd sadl elu Ag w33 Al

B) wurdl ardfasdl ©

(C)  wulys Aslia H2d W 8

M) a [au-d Raid wd Asida
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43.

44.

45.

46.

When the researcher uses judgement to choose the people to study, it is known
as what kind of sample ?

(A) Systematic (B) Random

(C) Purposive (D) Stratified

pu? Aelas disi viean w2 Redqddl wisod Wil Moy oo 53 8 el
d (Fedd su usied cliu &?

(4) adRud (B) g9

(C) &gudl D) AwRd

Standard Duration is a measure of :

(A) Dynamics (B) Central Tendency
(C) Dispersion (D) Correlation

UHURd [Quad A A U4 siq uy 9 ¢

@) e B) Headl Radl-i wuul
(C)  MAURMNIA D) AsRAsie

The collection of biographical material from personal documents as recalled
by individual themselves is called :

(A) Psycho-analysis (B) Oral history

(C) Historical study (D) Life history

A3dal A e sul Wl od RAABRHIY AR g WRA AsBid
54 AR

)  wilsawg B) Hilbs Sy

© AAeRs deu D) At ddid

Which one of the following techniques of data collection is used in all
systematic inquiries ? '

(A) Hypothesis (B) Assumption

(C) Observation (D) Comparison

Yglau-ll dwal Axidl wRdl AsBis@ll 56 Bl Gudiol srami 21
7?

A)  Guseu-u (B) alwu

© FARlaa @) ARl
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47.

48.

49.

50.

Identify independent variables in the following hypothesis : “Caste and
illiteracy together are the basis of backwardness.”

(A) Backwardness and caste (B) Caste and illiteracy

(C) Illiteracy and backwardness (D) All of the above

LA 200l Guseu-umi 1da WRacil viavi. wotdut =2 ald v Rlad
FAGELR & : .

(A)  ustawg 24 sul @) e 214 [Rlara

© [Rladl vt usiaug D) Gul oa

According to which scholar, the exchange of spouses can be studied as a system
of communication : '
(A) Nadel (B) Malinowski

(C) Levi-Strauss (D) Mauss

sul Rgid osuey 3, wasruell-i @FRMag AR @aan Wgd senuq s
Aste 9 1 v

(A) -usd | B) Hdl-lagl

© adl-giu D) HaA

When members of one group consider themselves as ‘insiders’ and non-members
as ‘outsiders’ this is called :

(A) Primary group—Secondary group

(B) Informal group—Formal group

(C) Ingroup—outgroup

D) Closed group—Open group

oY s A AGAL WA vuugueain’’ dd A ofld-aedid ur s’
a3 asud ©. dd g sSan ©

@A) wals ga-laldus qa

B) DA ga—AvulRs 2ga

(C)  idAu—-oUam

D) ola gu—vied A

Imposition of one’s will over others inspite of resistance is called :

(A) Authority (B) Power

(C) Charisma D) Influence

@iy 423 yat uidifl Sust oflogal Gur aledl A g sduy © -
A) Al (B) ul3d

(C)  AMSIR . D) ued
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